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General Instructions :

Read the following instructions carefully and strictly follow them :

(1)
(ii)

(iii)

(iv)

(v)

(vi)

This question paper contains 39 questions. All questions are compulsory.

Question paper is divided into FIVE sections viz. Section A, B, C, D
and E.

In section A - question number 1 to 20 are Multiple Choice Questions

(MCQs) carrying 1 mark each.

In section B - question number 21 to 26 are Very Short Answer (VSA)
type questions carrying 2 marks each. Answer to these questions should

be in the range of 30 to 50 words.

In section C - question number 27 to 33 are Short Answer (SA) type
questions carrying 3 marks each. Answer to these questions should be in

the range of 50 to 80 words.

In section D - question number 34 to 36 are Long Answer (LA) type
questions carrying § marks each. Answer to these questions should be in

the range of 80 to 120 words.

(vit) In section E - question number 37 to 39 are of 3 source-based/case-based

units of assessment carrying 4 marks each with sub-parts.

(viit) There is no overall choice. However, an internal choice has been provided

31/6/3

in some Sections.
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1. R mf @it @ 3 fashen 1 g fed frafafaa vamafes afiew & s &
FEAEITHAT % Teteh! (X) 3T (Y) % Sfera ST weiesh feu MU g ;

&) Y)
@ | () 0
b) | (aq) (2
© | (aq) (s)
@ @ (aq)

2. "< leumuam@# (1), (2), (3) 311 (4) H9: &

(a) Hoh, BNA oTah, gR I, Tifadent

(b) Fgeh, A oTah, TfadepT, R HIfsmEn
(c) &Ra otaeh, hgeh, TifaraehT, gR HITIThT

(@) Tifeaent, gr HIf3ERT, g, Bia o
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SECTION - A
Select and write one most appropriate option out of the four options given

for each of the questions 1 - 20.

1. Select the appropriate state symbols of the products given as X and Y in
the following chemical equation by choosing the correct option from table

given below : 1

X) )
@ | () )
(b) | (aq) (®

© | (aq) (s)
@ @ (aq)

2. In the given diagram of a closed stomata : (1), (2), (3) and (4) respectively

are 1

(a) nucleus, chloroplast, guard cell, vacuole
(b) nucleus, chloroplast,, vacuole, guard cell
(¢) chloroplast, nucleus, vacuole, guard cell

(d) wvacuole, guard cell, nucleus, chloroplast
31/6/3 3 5 - P.T.O.



3. = < vanfie wfieton 1 3 1T R faem Hifse -
I.  Mg+2HCI —> MgCl, + H,
II. NaOH +HCI —> NaCl + H,0
T FefiohuT] & Heiferd Tl e B -
(a) T T srfuforan 3R T o srfwfran 2
(b) T fowemam srfurforan 3t I fgfasemam srfufran 2 |
(€ T 3R ID G foreamom sAfforamd & |
(d) T 3R I Qi fforemm sibrmd 2 |

4. IRfoe@AiA, B, C3IRD % pHIHIHR R :
e A B C D

pH 2.0 | 7.0 | 80 | 12.0

I A1) e e & a1 grgge 19 fepterm/ e ?
(a) HadTA (b) HIAD
(© A3RD @ B3RC

5. Hieft a1 § I 3R gisferet I U8 fshameheta @ S afeass & fordt Wi % R
Ty g | i < meft arfereRt @ g9 wmt At feafa 3t A g i -

HiTsHh T 9 T
(a) 37U gfeash JafeTsh
(b) WeA HiwTH HERISEET]
(c) Uvd Hitash e
(d) e HiET= HgeT

31/6/3 —3— 6 -3~
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3.  Consider the following chemical equation I and II 1

I. Mg+ 2HCI —> MgCl, +H,
II. NaOH + HCl —> NaCl + H,0

The correct statement about these equations is —

(a) T is a displacement reaction and ‘IT’ is a decomposition reaction.

(b) ‘T 1s a displacement reaction and ‘II’ is double displacement reaction.
(¢) Both T and ‘II’ are displacement reactions.

(d) Both T and ‘II’ are double-displacement reactions.

4. There are four solutions A, B, C, and D with pH values as follows :

Solution A B C D

pH 2.0 | 70 | 8.0 | 12.0
Which solution(s) would liberate hydrogen gas with zinc ? 1
(a) Aonly
(b) D only
(¢ AandD
(d BandC

5. Walking in a straight line and riding a bicycle are the activities which are

possible due to a part of the brain. Choose the correct location and name

of this part from the given table : 1
Part of the Brain | Name

(a) | Fore brain Cerebrum

(b) | Mid brain Hypothalamus

(¢) | Hind brain Cerebellum

(d) | Hind brain Medulla

31/6/3 == T =2~ P.T.O.
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6. HHT: YTq o JFETES TAT & IR B &, T S TGS o STHATSS SARhT o
Wl STTSRa Ld & | 9 WoPT o HTfcareh HATHTES & -

I. MgO
II. ZnO
1. ALO,
IV. CaO
(@) I3RII ®) II3fRIII
) II3RIV @ I3RIV

7. i gl STR ATeHl <l 88 WIgSl | Sod T BT B
(a) T o gd 3R Bihd o o= §
(b) TS o HIhY % SEd ke
(c) TG o Hiehd TR Tehdl forsan o o= |
(d) TIEeh o FAehdl g T

8. Wl Fah I T IHIHAT FANTEE o STt et i oS sreft mff | v Temsht &1 i |
= @ it arfereRt w1 SremR Hife 3R wdt fohed FiT -

TR | IR FARES TR pH 1 afEr
(a) IT<AT | GocT ITFA IR e &R ohl 79 A
(b) HEHE | G ITFA TR WA & hl 7 1frw
() AT | o 3T 3R ot &R ol 79 A
(d) ¥R | ToeT 3T 3T T &k ol 7

31/6/3 —3— 8 =2~
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6. Metal oxides generally react with acids, but few oxides of metal also react

with bases. Such metallic oxides are :

I

IL.

III.

IV.

(a)
(©

MgO
ZnO
Al,O4
CaO

ITand I

(b) II and III

IIT and IV (d TandIV

7. In torch lights and head lights of vehicles, the bulb is placed

(a)
(b)
(©
(d)

between the pole and the focus of the reflector.

very near to the focus of the reflector.

between the focus and centre of curvature of the reflector.

at the centre of curvature of the reflector.

8. Few drops of aqueous solution of ammonium chloride are put on a

universal indicator paper. The paper turns pink.

Study the following table and choose the correct option.

Nature | Ammonium chloride is a salt of .... | Range of pH
(a) acidic weak acid and strong base less than 7
(b) basic weak acid and strong base more than 7
(¢) acidic strong acid and weak base less than 7
(d) basic strong acid and strong base 7

31/6/3
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9. i~ (eprE) firsmg B
(a) IR 3T b 1 (b) TeHfRM 3R feA
(c) hiR, T 3T fSiep =1 (d) BRI AR

10. iem — I 3R II 7 < 7t uei o ot firet e ared forehed 1 BifeT -

i — I e — 11
“fifereh Tarfaror () ITE-TR &
e fafeRTon b1 SeuTEE | (i) SfaTY] 3TR haeh
FARFART hTe AR (iil) 3T TeH
ITTHTSIh (iv) = HE
A B C D
(a) (1) @ i) @)

(b) )  @Gv) @ (i)
() @) aGv) @) @
(d) (i) @ @ @)

o o W p

11. 961 U o et gobe W Tarehfira Trgeiud # forepféra amigan e g1l § -
(a) ST (b) <
(c) W™ (d) I ATA

12. frfafeaa @ & fraeht o & stfira o 6 wise gt § afEd g g ¢
(a) T AT (b) vemTft ufdrt
(c) e (gfedea) (d) i (= Ted)

31/6/3 —3— 10 -2~
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9. Bronze is an alloy of 1
(a) Copper and Zinc (b) Aluminium and Tin
(¢) Copper, Tin and Zinc (d) Copper and Tin

10. Choose the option giving correct matching the items given in Column — I

& I1. 1
Column -1 Column - 11

A. Physical environment (1) Ozone layer depletion

B. Exposure to UV radiation (1) Bacteria and Fungi

C. Chlorofluoro Carbon compounds | (iii) Abiotic components

D. Decomposers (iv) Skin Cancer

A B C D
@@ @O @) @
(b) @)  Gv) @ (i)
(© @)  @av) @) ®
(d @) @ @ @)

11. The thread like structures that develop on a moist slice of bread in

Rhizopus are 1
(a) Sporangia (b) Filaments
(¢) Rhizoids (d) Hyphae

12. The change in the focal length of an eye lens in human beings is caused by

the action of 1
(a) optic nerves (b) ciliary muscles
(¢) retina (d) cornea

31/6/3 =3 11 -2~ P.T.O.
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(a) IJATCE |
(b) UREATIAeRT & T 1 3R I W =T ST 2 |
(c) TiETToTeRT % R Sl 3T ST W o AT 2 |

(d) T FgREAFE@E |

14. 9 gl e wia % Brew g v wert & fador & st & aut P’ iR Q) e § -

(a) T ST ST
(b) & IR A
(c) T 3R Frem
(d) T AR

15. T % Wil o @1 fohu T fopedt y=mr A foneft 31g oreat T8 (T'T) o1 fohedt ST o9 e (tt)
% H1Y FHW HAT T | F, Fafd & 9l § g o 0ol 3R g o dii 1 37
1B 7
(@ 1:3 (b) 3:1

© 1:1 @ 2:1

31/6/3 3= 12 -2
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13. The magnetic field inside a long straight current carrying solenoid : 1

(a) 1s zero.
(b) decreases as we move towards its end.
(¢) 1increases as we move towards its end.

(d) 1is same at all points.

14. In the following diagram showing dispersion of white light by a glass

prism, the colours ‘P’ and ‘Q’ respectively are — 1

White light

P
(a) Red and Violet (b) Violet and Red
(¢) Red and Blue (d) Orange and Green

15. In an experiment with pea plants, a pure tall plant (TT) is crossed with a

pure short plant (tt). The ratio of pure tall plant to pure short plants in F,,

generation will be 1
(a 1:3 (b)y 3:1
¢ 1:1 @ 2:1

31/6/3 —3— 13 -2 P.T.O.
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16. = feu wu fF goai X, Y 3R Z | o= hifse — 371 @ 9 9/8 759 % ° foemfia
BNTI/ER ?

™Y T Z
(a) Haa X (b) HaIA L’
() X 3IY (d) Y IWZ

T TEAT 17 & 20 7RI — HHO R UG IH & :

3 T I @ HUH — ANHYT (A) 3R HRO (R) fouw mw § | 37wl % I A9 few
TR 3 fareped w1 et ST -

(a) (A) IR (R) THI HEl & 7T (R) SR (A) %1 HEl A B & 2 |

(b) (&) R (R) qHI ¥ 8, Tg (R) 5T (A) H1 ol e T @1 @i e |

© (A) @R, wg R) TR |

(A (Ao g, o (R) T2 |

17. 3tfireRem (A) : YTHIETNET 1 TeH i T Sett SISl o I o9 T8 AT 2 |
FHROT (R) : Foreht STRT “F@e & sl &1 YaT8 THIGRT # |

18. AMMHRAA (A) : TS T T IR FAUTTh ST o TeiToh 3T FaUTh shi 3TUETT
fr g e |
HRT (R) : 3T AfRi & 310131 o s TRy et ST ersh Jaet 8id & |

31/6/3 3= 14 -2
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16. Consider the following three flowers namely X, Y and Z. Which flower(s)

would develop into a fruit ?
Flower X Flower Y Flower Z
(a) X only (b) ‘7’ only
(¢) X and ‘Y only (d) Y and ‘Z
Q. No. 17 to 20 are Assertion — Reasoning based questions.
These consists of two statements —
Assertion (A) and Reason (R). Answer these questions selecting the
appropriate option given below :
(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of (A).
(b) Both Assertion (A) and Reason (R) are true but Reason (R) is not the
correct explanation of (A).
(¢) Assertion (A) is true, but Reason (R) is false.
(d) Assertion (A) is false, but Reason (R) is true.
17. Assertion (A) : The energy which passes to the herbivores does not come
back to autotrophs. 1
Reason (R) : The flow of energy in a food chain is unidirectional.
18. Assertion (A) : Melting point and boiling point of ethanol are lower than
that of sodium chloride. 1

Reason (R) : The forces of attraction between the molecules of ionic

compoiunds are very strong.
31/6/3 —3— 15 -2 P.T.O.



E5E
[
19. 3RTHAA (A) : THE T T 01 3T T o STEL IV HI9 H Safed 2Md 2 |

HROT (R) : JT hI¥ IRV h ITE oh foTT IR <6 TTHT 19 & o A9 TEH HLal
2l

20. 3frRUA (A) : 98 gea fean Simar 2 fop foreht <t bt aeha shid a9 faerem o1 ammar
forenifea &td gu STa 1 310 U fiyetmT =fae, 37t w1 STet | & STeT =g |

&1 (R) : 3771 1 1A § forel s <61 wishan stcafires Ssaadt 2rdi 2 |

Qus — °d
T TEAT 21 8 26 i -SRI IF & |

21. A it feredt Jega I =1 afaie fra wgar 2 3 3ues < il < s fawera =t
3Ieh ITRTR A T Teh <A ot fean Srar 8, a1 389 Janfed & H 1 gied &t
@ 7 38 em i fofa Rt sgmrar & Suwied 99 1 e fhan ST 2 |

22. (a) WME AEhI-aF § g foe[d T fohd YobR 3= BT &, dlIehT SHIRThT (FTH)
o 3T AT ! TEATT ST dfehT JATeRT i

()  <hIfTeRT T T AR, qAUT
(i) RITTeRT T & QTS S H TR HLAT 2 |
AT

(b) Toreht Sgretur Y TERIT & Sme hifs foh gt frnfafyr fepa weer gtHMT %

|1 1 Tt it § |
31/6/3 —3— 16 —3-—
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19. Assertion (A) : Testes in human males are located outside the abdominal

cavity in scrotum. 1

Reason (R) : Scrotum provides a lower temperature than the normal

body temperature for sperm formation.

20. Assertion (A) : It is advised that while diluting an acid one should add
water to acid and not acid to water keeping the solution continuously

stirred. 1

Reason (R) : The process of dissolving an acid into water is highly

exothermic.

SECTION - B
Q. No. 21 to 26 are Very Short Answer Questions.

21. Let the resistance of an electrical device remain constant, while the
potential difference across its two ends decreases to one fourth of its
initial value. What change will occur in the current through it ? State the

law which helps us in solving the above stated question. 2

22. (a) How is an electric impulse created in human nervous system ? Identify

the parts of a neuron which helps the nerve impulse to travel 2
(1) towards the cell body
(1) away from the cell body

OR

(b) With the help of an example, explain how does the feedback

mechanism regulate the hormone secretion. 2

31/6/3 —3— 17 -2 P.T.O.
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23. 3@ H gUIT 3TTHR hIg ThTI ATEH A § H1e™ B T Y97 e 7 |

()

(b)

()

(b)

]:l-l-w-q ‘B’ i/
)

ey ‘A’ 1

\

T gHT HTEEl B 9 |1 HISAH 37T HIEAH o HUeT HE g 7 310 TR Al gy
FHIT |
Ife mer A T SRR 6l =9 v, 3R ATEH B H Yehr1 i A1 v, 8, a1 71w B
ST HIIH A % HIUE 7T FI1 8 ?

rera
I3 YT ForTuT ER § ST Ieht &R 3TR ST Sl e i aTet T8 T 39
A 2 | 9 Y07 T TehTST o STULH bl €M o ToTu F1ifera 3T St |
M 3R 9 & Fder TdedHis A 2.42 3R 1.33 § | ER % Ane oA H
JTIEHT A HIFT |

24. 3Ioorg hife fop i & et Tt srfirferan teiem stfifsran 8 e 98 | 319 I
=1 gfE i |

MnO, + 4HCl —> MnCl, + 2H,0 + Cl,

25. EHT W T[T % el H YT UregH 1 4 fARGT | geeh! a1 S areft Ui
3o HITTT | IS 8 TrITgH T HIFVT b ST A1 FHHY IT= T3RaT 02 1 g 1 2

26. et A ¥ o Al gRETE! WY et §RI AT % IRl AR I g aret!
Freh & @S IRfed Hife | afg foret famg o m graehia & 1 dfean feifa
H 2, ITH! Tk § g A g & e @ grEhi & Y e fre R afafda
gl ?

31/6/3
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23. A light ray enters from medium A to medium B as shown in the figure.

Medium ‘B’

Medium ‘A’

(a) Which one of the two media is denser w.r.t. other medium ? Justify
your answer. 1

(b) If the speed of light in medium A is v, and in medium B is v,, what is

the refractive index of B with respect to A. 1
OR
(a) A ray of light starting from diamond is incident on the interface
separating diamond and water. Draw a labelled ray diagram to show
the refraction of light in this case. 1
(b) Absolute refractive indices of diamond and water are 2.42 and 1.33
respectively. Find the value of refractive index of water w.r.t.

diamond. 1

24. State whether the given chemical reaction is a redox reaction or not.
Justify your answer. 2
MnO,, + 4HC/ — MnCl, + 2H,0 + Cl,

25. Give the name of the enzyme present in the fluid in our mouth cavity.
State the gland which produces it. What would happen to the digestion

process if this gland stops secreting this enzyme ? 2

26. Draw magnetic field lines produced around a straight current carrying
conductor passing through a cardboard. How will the strength of the
magnetic field change when the point where magnetic field is to be

determined is moved away from the conductor ? 2
31/6/3 == 19 -2~ P.T.O.
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Y TEAT 27 § 33 -IAT T R |

27. Uit o8 sed & 2 S afeTferent e 1 wifd wa sgagr wudt & 2 fomd
AiATToTeRT o Srarehia & o e i 3faa Hife iR el & Yanstt 1 feamd o
3Hfehd T |

28. (a) (i) 3Tl 3TN &TReh! § i G101 SAE B 7 ISTETT bt SATEAT HITT |
(i) Som & g B aret foreht i o g 7T 2 fob 9 aret firete S W e
BSA@E |

39 ik b1 vgETie 3R sHenT g fafae | =g Aifires foh wehR s St § 0
T TUM ohaed TETH(eh THIEHTUT o &Y T HIfT |

YAt

(b) () T A (Giaesh) T THRIH 19 TR IHehT fveeh gt ferfaw |
(i) B fra TR IR a2 ? 38 Uk HIFTITI L ?

29. (a) forell HTTER *f@en ¥ Tt €1 S o (1) Fohan wirera W 61 @ 3w # aiEfda
I 8 9T (i1) Tl fohaa Tfesrd o1l 37Tl TaX o1 3Uetsd Shild 8 ?

(b) Ot TR ¥ hed g ? forell it o fafor= 3TTRR fEed ar s1ere d9fe ardt &m/i
¥ 377k 1 AT 21 BIdt @ 2 HRUT GIT |

30. AMe I H rfedsia 3 fastiadisiaa eftr & uftag i gfsean st samen i |

31/6/3 —3— 20 -3~
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SECTION - C

Q. No. 27 to 33 are Short Answer Questions.

27. What is a solenoid ? When does a solenoid behave as a magnet ? Draw the
pattern of the magnetic field produced inside it showing the directions of

the magnetic field lines. 3

28. (a) (1) What property do acids and bases have in common ? Explain it

with an example.

(1) A compound which is prepared from gypsum has the property of

hardening when mixed with water.

Identify the compound and write its formula. How is this compound

prepared ? Describe it in the form of a chemical equation only. 3
OR

(b) (1) Write the chemical name and Molecular formula of tooth

enamel.

(1) How does it get corroded ? What is the preventive measure for
this ? 3

29. (a) Write the percentage of (1) solar energy captured by the autotrophs
and (i1) energy transferred from autotrophs to the next level in a food

chain.

(b) What are trophic levels ? Why do different food chains in an ecosystem

not have more than four to five trophic levels ? Give reason. 3

30. Explain the process of transport of oxygenated and deoxygenated blood in
a human body. 3

31/6/3 3= 21 -2~ P.T.O.
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31. I3 AT G GaR T foroeh TRt ol TT8 T <@ IT1 2 | Tirg GaR § ST 2 m 6

T W TS Bt 98 I TIE ¢W A1 © |

(a) 3% feafa o 9= gro widfersr s <oria < fore fopeor e Hifaw e o8 dam @
HTHI G T F |

(b) 93 g o g1 wenrfera T ST g SET |
(c) SUIH IF o ITANT GRT 38 STV o FINGH i GINH o 7T foptor 3@ it |

32. (a) WM URfeafadt § ardl § wfad B 9Tt giAi 3R 30 |nferd s areft T s
T fafge | o 97 gE R s d wifad giar @ o gan e § g arelt
IR Sl gt Iy |

JAUAT
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31. A person is unable to see clearly a poster fixed on a distant wall. He
however sees it clearly when standing at a distance of about 2 m from the
wall.

(a) Draw ray diagram to show the formation of image by his eye lens
when he is far away from the wall.
(b) List two possible reasons of this defect of vision.

(¢) Draw ray diagram to show the correction of this defect using

appropriate lens. 3

32. (a) Name the gland and the hormone secreted by it in scary situations in
human beings. List any two responses shown by our body when this
hormone is secreted into the blood. 3

OR
(b) In the given diagram
(1) Name the parts labelled A, B, and C.
(i1) Write the functions of A and C.

(ii1) Reflex arcs have evolved in animals ? Why ? 3

33. State the change in colour observed in each of the following cases

mentioning the reason : 3
(a) Silver chloride is exposed to sunlight.
(b) A piece of zinc is dipped in ferrous sulphate solution.

(¢) Copper powder is strongly heated in air.
31/6/3 —3— 23 - P.T.O.
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34. (a)

(b)

35. (a)
(b)
©
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SECTION - D

Q. No. 34 to 36 are Long Answer Questions.

34. (a)

(b)

35. (a)
(b)

(©

31/6/3

(1) What is meant by resistance of a conductor ? Define its SI unit.

(i) List two factors on which the resistance of a rectangular
conductor depends. 5

(i11) How will the resistance of a wire be affected if its
(1) length is doubled, and
(2) radius is also doubled ?

Give justification for your answer.

OR

In an electric circuit three bulbs of 100 W each are connected in
series to a source. In another circuit set of three bulbs of the same
wattage are connected in parallel to the same source. 5

(1) Will the bulb in the two circuits glow with the same brightness ?
Justify your answer.

(i) Now, let one bulb in both the circuits get fused. Will the rest of
the bulbs continue to glow in each circuit ? Give reason for your
answer.

Name the two types of pollination and differentiate between them.

Explain the post fertilization changes that occur in the ovary of a
flower.

Given below is a diagram of a germinating seed. Label the parts that 5
(1) gives rise to future shoot.
(i) gives rise to future root system.

(i11) stores food.

@
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36.

(@)

(b)

(1)
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e
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36. (@ () A compound ‘A’ with a molecular formula of C,H,O, reacts with
a base to give salt and water. Identify ‘A’, state its nature and
the name of the functional group it possesses. Write chemical
equation for the reaction involved.
(11) When the above stated compound ‘A’ reacts with another
compound ‘B” having molecular formula C,H;O in the presence
of an acid, a sweet smelling compound ‘C’ is formed.
(1) Identify ‘B’ and ‘C.
(2) State the role of acid in this reaction.
(3) Write chemical equation for the reaction involved. 5
OR
(b) (@) Name the compound formed when ethanol is heated at 443 K in
the presence of conc.H,SO, and draw its electron dot structure.
State the role of conc.H,SO, in this reaction.
(i1) What is hydrogenation ? Explain it with the help of a chemical
equation. State the role of this reaction in industry. 5
SECTION - E
Q. No. 37 to 39 are case based / data based questions with 2 to 3 short
sub-parts. Internal choice is provided in one of these sub-parts.
37. A student took three concave mirrors of different focal lengths and
performed the experiment to see the image formation by placing an object
at different distances with these mirrors as shown in the following table. 4
Case No. | Object-distance | Focal length
I 45 cm 20 cm
II 30 cm 15 cm
IIT 20 cm 30 cm
Now answer the following questions :
31/6/3 3 27 - P.T.O.



g%%

(a) o T 3 e et e 35 2 it o et e |

(b) fersht ¥ feu U ford Tk Tehtor T YU THTT FTS hT ATl Jiiens SHI 2
3T A ?

() < Tafercaenl gru fopa TohR o1 <UuT Iu=T foham STTaT @ 7 shor T T o 59
YR h €U hT IUFTT 1 ohid @ |

YA

(c) dfetenT i @eRt 39 feurfa (foma gl 3R wiehd gft) 1 Tg=u ot 36 aifeafa @
U @it 2 ey sreader edun st 3w wife edon 6t Wit foran a2 | 39 gt
T yfefers 51 g9 & forw femtor s wifem |

38. W4 o A} TUIGE UREUT I e B | WG § STIRTe O HidT 3R fUdr (Arges 3
) o 1 Wil (o) B # | B 3@ YRR % 22 WR | g T S
5@ o o +ad €, wea & qut STreT Tl Bran 8 | fe (Arerat) # fot 1o w1 qut Siret
T & g g () F St afeget St T B 1 36 S 1 0 o qee
SHTHTL T G IR ST DIl BT 2 |

(a) WFElH Rl Jroet ¥ TR g s H fehd TR Iuferd g 8 ?
(b) “F© TGl 1 fo fruior quredr geferer W R wtar g |7 femft Hifvo |

(c) “ferelt fargy w1 foim wmr @ 7 3R g9eh Torw wrar-fuar (Sment) o & feneft bt oft
IR e AT ST Heha1 87 | hael YaTg STN@ gRI 38 2 Al If¥ Hifru |

YA
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(a) List two properties of the image formed in Case I.
(b) In which one of the cases given in the table, the mirror will form real

image of same size and why ?

(¢) Name the type of mirror used by dentists. Give reason why do they

use such type of mirrors.
OR

(¢) Look at the table and identify the situation (object distance and focal
length) which resembles the situation in which concave mirrors are
used as shaving mirrors ? Draw a ray diagram to show the image

formation in this case.

38. All human chromosomes are not paired. Most human chromosomes have a
maternal and a paternal copy, and we have 22 such pairs. But one pair
called the sex chromosomes, is odd in not always being a perfect pair.
Women have a perfect pair of sex chromosomes. But men have a
mismatched pair in which one is normal sized while the other is a short

one. 4

(a) In humans, how many chromosomes are present in a Zygote and in

each gamete ?

(b) A few reptiles rely entirely on environmental cues for sex

determination. Comment.

(¢) “The sex of a child is a matter of chance and none of the parents are

considered to be responsible for it”. Justify it through flow chart only.
OR

(¢ Why do all the gametes formed in human females have an

Xchromosome ?

31/6/3 —3— 29 -3~ P.T.O.
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39. On the basis of reactivity metals are grouped into three categories —

(1) Metals of low reactivity
(i1) Metals of medium reactivity
(111) Metals of high reactivity

Therefore metals are extracted in pure form from their ores on the basis of

their chemical properties.

Metals of high reactivity are extracted from their ores by electrolysis of

the molten ore.

Metals of low reactivity are extracted from their sulphide ores, which are
converted into their oxides. The oxides of these metals are reduced to

metals by simple heating.

(a) Name the process of reduction used for a metal that gives vigorous

reaction with air and water both.

(b) Carbon cannot be used as a reducing agent to obtain aluminium from
its oxide ? Why ?

(¢) Describe briefly the method to obtain mercury from cinnabar. Write

the chemical equation for the reactions involved in the process.
OR

(¢) Differentiate between roasting and calcination giving chemical

equation for each.

31/6/3 == 31 -2~
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